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Choice Based Credit System VI Semester B.A. (HRD) Degree
Examination, July/August 2023
(2021-22 Batch Onwards)
LABOUR LEGISLATION

Time : 3 Hours Max. Marks : 120

Instructions : 1) A single booklet containing 40 pages will be issued.
2) No additional sheets will be issued.
TR0 : 1) 40 PENT 2,000 VST & SFODT VeBERMOZL.
2) TYNTINT) QeBRMPOY,

SECTION - A
iy TN - D
I. Answer the following : (20x3=60)
BINT T,JNON LUZoR.
1) Explain the different provisions under the Industrial Employment -

Standing Order Act, 1946.
3 mo0%e BXER NS 59030 , 1946 T BEINYY, STRDATOT 07 FBOBNTIY
D30 '

OR/emz»

Explain the different benefits under Employees State Insurance Act, 1948.
YUTIR, NN T2, DR T203), 1948 T Q0T T BREEINTI) VT0R.

&

2) Explain the different provisions under Maternity Benefit Act, 1961.
TARE @Scﬁs 0030, 1961 T A0 BTINTTY, WSO

OR/egw

Explain the functions and objectives of International Labour Organisation.
@cédme?%eodo FOWOFT FOFEIFOD F200F TR ULE% eBNTIY, V0.
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3) Explain the obligations of employer and employees under Factories

Act, 1948.
ToARFSNY T9032 1948 T 590 [T Torie F950F 8 TITUTT
WG, BNYIY, DTCA.

OR/egz

Explain the obligations of employers and employees under EPF Scheme.
.. QT AEFFFY, TROE Tone FOBMTT FLTDRNT) LTOR.

SECTION -B
NN -W

Il. Answer any six of the following : (6x6=36)
FSNT CINRTOWTR ST @,az nen ¢u3dR.
1) Explain the eligibility for Bonus.
NVWSIPF T3 TEODLO ATUITIT STF SNTTY WSOA.
2) Write a note on occupational hazards.
Bn, eng smodons wr 63563 B0,
3) Explain the conditions under Payment of Bonus Act.
HReTT® TTE0I FON LN, LT VWOFINTRY, Q:0R.
4) List out the employees who are not applicable under Payment of Bonus
Act, 1965.
RIS entatalionta mo&v@, 1965 09 w¥TBT FORMTO :J‘é,gjcﬁ.asiaq WBCD.
5) Explain the scope of social security measures.
ARTINE LT, 80 TOTOTT 39, & OO, WWBOR.
6) What are the penalties fer €ontravention of Maternity Benefit Act 1961 ?
TyRRS 5030 ,1961 T3 00T, Bdezmd S0UITT TOBBI), SPA.
7) Explain the duties of an employer to pay gratuity.
DEVTRTT BRTIN QBB BROETT 53733, WFOA.
8) What are the features of Labour Welfare Measures ?
TOWIF T T, 09 BT, T rbsaogsaﬁ%*abq DROR.
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SECTION - C
QRN - A
Ill. Answer any four of the following : (3x4=12)
FINT C0RPYTITTR TR, TyJNN YUS0A.

1) What are the methods of calculating wages under Worksmen's
Compensation Act ?

FOAMOTT BOTT TR 0D 500 3R SELHT IRTFLO QTOT AFIINTI), S9A.

2) Give the importance of Payment of Gratuity Act, 1973.
TEOTRTT FRTWON 26T 5908, 1973 T 32,3000, 30T, S9A.

3) Write a note on social assistance.
TORRTT ATIODT urﬁ\ wm;sé LTCWD.

4) Give the importance of EPF scheme.
0.8 0F .3 T, W08, 3R

5) Explain the offences under Equal Remuneration Act by the employer.
ABRT FeST T20I 0D, FOBWTT BRI STWOITNFTY, WTOR.

6) What are the exempted establishments under Payment of Bonus Act, 1965 ?
VLIBT3 @cﬁ% ,1965 T ©2009) wITBT Puidnsh cdngm) ?

SECTION - D
PN -8
IV. Answer the following questions : (1x12=12)
FYNT T,INen Y303,
o s

1) What is compensation ?

BOBOT 20T3eRd 2 '
2) Who is minor ?

ST, T Q0TS C3RTO ?
3) Give the meaning of child labour.

LPOTNFT TITD ec;ﬂraxigi 2LBC0.
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4) What is casual leave ?
TOOTWFT O 0TTERD 2

5) What do you mean by Gratuity ?
‘BEITCRTT FRTBIN Q0TTEID ?

6) When ILO was formed ?
©0ZTT L0 TOROFE RO m@ﬁﬁ SNTR, C35sN 2
7) Define Labour Welfare.
FTOWF T gmsmq T, AT, N,
8) Who is occupier ? O
TP RTOT 0TT a3RTL ?
9) Give the meaning of ‘Apprentice’.
SRR ¢ TTT ©HF S9A.
10) What is disablement ?
‘LI0MeFOB’ ROTTERD ?
11) Define employment injustice.
wdfaéerid €539, QIR 339,839, QR0.
12) What is prime mover ? p
TR T,T[3FT H0TT o3RT0 ?

O




